PRELIMINARY ROUND / VONG LOAI QUOC GIA
PE SO 2
Logical Thinking/ Tw duy logic

Ql. [2.1.2]
If last month was April, which month will it be 16 months later?

Biét thang trude la thang 4, héi 16 thang nita la thang mdy?

A. May (Thang 5) B. September (Thang 9)
C. August (Thang 8) D. December (Thdang 12)
Solution:

16-12=4

...... April May June July August Septembe October .........

Last This | 2 3
month month 4
C AR 1 JETTTER later
Key: B
Q2. [2.15]

By observing the pattern, what is the English letter in the space (“ ) provided?
Quan sdat quy ludt dwéi ddy dé dién chiv cdi Tiéng Anh thich hop vao ché trong
G_)

A,Z,B, ,C,X,D,W,..
A E B. S C.U D.Y
Solution:
ABCDEFGHIJKLMNOPQRSTUVWXYZ
A;B;C;D



Z:;Y ; X; W
Key: D

Q3. [2.I5]

Observe the sequence below to replace the music note with a suitable number.

Quan sdt day sé dwdi day dé thay thé nét nhac bang sé thich hop.

A. 35
Solution:
50-1=49
49 -2 =47
47 -3 =44
44 —4 =40
40-5=35
Key: A

Q4. [2.1.3]

Refer to the pattern below, how many arrows are there in the 5™ Group?

Duea vao quy ludt duoi day, hoi sé co bao nhiéu miii tén trong nhom thur 5?

A. 15

4
g

15t Group

50,49,47,44,40, 7, ...
C. 30

B. 39

4
4
4

21¢ Group

B. 20
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C.21

D. 36

D. 16



Solution:
3,6,10,15,........
3+3=6
6+4=10
10+5=15
15+6=21
Key: C

Q5. [2.1.7]

Each cupcake costs $2. Alice had $23 and she bought 7 cupcakes. How much money

did she have left?

MGi cdi banh ¢é gid 2 dé. Alice ¢6 23 d va c¢é bé mua 7 cdi banh. Hoi khi d6 c¢é bé

con lai bao nhiéu tién?
A.$14 B. $9 C. $21
Solution:
7x2=14
23-14=9
Key: B
Arithmetic/ S6 hoc

Q6. [2.11.1]

Find the value of 28 +43 + 72 + 29 + 11+ 37.

Tim gid tri cua 28 + 43 + 72 + 29 + 11+ 37.

A. 220 B. 200 C. 210

Solution:

D. $8

D. 230

28 + 43+ 72 +29 + 11+ 37 = (28 + 72) + (43 + 37) + (29 + 11) = 100 + 80 + 40 =

220
Key: A



Q7. [ 2.11.1]
Which number should the flower be replaced by to get a correct equation?

Hoi can thay thé béng hoa dwdi ddy boi sé nao dé dwoc phép tinh ding?

S+ -2=-0+24
A.23 B. 46 C.2 D. 40
Solution:
24 +22 =46
Key: B
Q8. [2.01.1]

Find the value of 2 +4 +6+ ... + 16 + 18.
Tinhgiatricua2 +4 +6+ ...+ 16+ I8.

A. 100 B. 80 C: 90 D. 180
Solution:

2+4+6+...+16+18=2+18)+(4+16)+........ +(@8+12)+10
=20+20+....+20+10=4%20+10=90

Key: C

Q9. [2.11.2]

Calculate: 7x2+ 11 x2+2%x3+2x9
Tinh: 72+ ] xX2+2%x3+2x%x9
A. 60 B. 50 C. 40 D. 70

Solution:



TX2+11%x2+2x3+2x9=2%x(7+11+3+9)
=2x(10+20)=2x%x30=60
Key: A

Q10. [2.IL1]

A and B represent different 1-digit numbers. What is the value of B if the equation is
correct?

Biét A va B biéu dién cdc s6 c6 1 chir s6 khdc nhau, héi gid tri cia B la bao nhiéu dé

ta duoc phép tinh dung dvwoi day?

4 B A4
N B B

5 3 0
A.5 B. 6 C.3 D. 4
Solution:
A+B=10
1+B+B=13
B+B=12
B=6
Key: B

Number Theory/ Ly thuyét s6

Q11. [2.111.4 ]

Determine whether the sum+2+3+4+ ...... + 9 is odd or even.
Xdc dinh tong cia 1 +2+ 3 + ... + 9 1a 1é hay chan?

A. 0dd (S6 1é)

B. Even (S6 chdn)



C. Both odd and even (Vira chan vira Ié)

D. Neither odd nor even (Khéng 1é khéng chan)
Solution:

1,3,5,7,9:5 odd numbers

Key: A

Q12. [2.11.2 ]

A box has balls with consecutive even numbers from 10 to 40. How many balls are
there in the box?

Mot hép chira cdc qud bong dwge danh sé chan lién tiép tir 10 dén 40. Hoi c6 bao

nhiéu qua bong trong hop do?

A. 15 B. 16 C.31 D. 40
Solution:

10;12;14;16; 18;20;22:24;26;28;30;32;34;36:;38;40

Key: B

Q13. [2.II.1]
Find the next number in the arithmetic sequence below.
Tim s6 tiép theo trong day sé cdch déu dudi ddy.

419, 398, 377, 356, ...

A. 355 B.314 C. 335 D. 345
Solution:

419 —-21 =398

398 -21 =377

377 —-21=356

356 —21 =335



Key: C

Q14. [2.JIL3]

Andy gave Betty 27 marbles and Betty gave Charlie 13 marbles so that they have the
same number of marbles. How many marbles does Andy have more than Charlie
originally?

Andy cho Betty 27 vién bi va Betty cho Charlie 13 vién bi thi ba ban c¢6 sé bi bang
nhau. Héi liic dau Andy c¢é nhiéu hon Charlie bao nhiéu vién bi?

A.27 B. 41 C. 14 D. 40
Solution:

13+27=40

Key: D

Q15. [2.111.9]
David collected 19 stamps. His brother collected 12 stamps. One page of the
collection can contain no more than 9 stamps. At least how many pages are required
to present all stamps of 2 brothers?
David swu tam dwoc 19 cdi tem. Anh trai David swu tam dwoc 12 cdi tem. Moi trang
cua bo suu tdp khong chira duoc nhiéu hon 9 cdi tem. Héi can it nhat bao nhiéu
trang dé trung bay dwoc toan b s6 tem cia hai anh em?
A.2 B.3 C.4 D.5
Solution:
19+12=31
31-9=3...4
3+1=4
Key: C

Geometry/Hinh hoc



Q16. [2.01V.2]
How many squares are there in the figure below?

Hoi co bao nhiéu hinh vuong trong hinh duoi day?

A. 21 B. 22 C.16 D. 19
Solution:

15+3+3=21

Key: A

Q17. [2.0V.1]

At least how many unit squares are seen if viewing the figure below from the right?

Néu nhin hinh bén duwéi tir bén phdi thi c6 it nhdt bao nhiéu é vuéng don vi?

A. 4 B.3 C.7 D.6
Solution:
2+2=4

Key: A



Q18. [2.0V.3]
How many edges does a cube have?

Hoi mot hinh Idp phwong co bao nhiéu canh?

A. 16 B. 12 C.9 D. 8
Solution:

12 edges

Key: B

Q19. [2.0VS5]
How many line segments are there in the figure below?
Hoi ¢6 bao nhiéu doan thang trong hinh duwdi ddy?

P——

A. 18 B. 24 C.16 D. 28
Solution:

4%6+4=28



Key: D
Q20. [2.IV.7]
Refer to the figure sequence below. How many triangles are there in the first 23
symbols counting from the left?
Xét day hinh duéi ddy. Hoi c6 bao nhiéu hinh tam gidc trong 23 hinh dau tién tinh tir
phia bén trai?

*x VIEBVx VEBVx VIEBVX..
A.9 B. 10 C.8 D.6
Solution: The pattern :
23 +5=4....3 *OV.V
4x2+1=9
Key: A

Combinatorics/ T6 hop

Q21. [2.V.2]
A 4-digit number is formed by choosing 4 numbers without repetition from 0, 1, 3, 7
and 9. What is the difference between the largest and the smallest value?
Mot s6 ¢6 4 chir s6 duoc tao ra bc%ng cach chon 4 s6 khong lap lai ti 0, 1, 3, 7 va 9.

Tim hiéu giita gia tri [on nhat va gia tri nho nhat cé thé chon dworc.

A. 9594 B. 8999 C. 8352 D. 8694
Solution:

9731 — 1037 = 8694

Key: D

Q22. [2.V.6]
The librarian needs to move some books so that 3 shelves below have the same

number of books. At least how many books does she have to move?



Thu thu can di chuyén mot so sdach dé ca 3 ngan co so sach bang nhau. Hoi co ay

can di chuyén it nhat bao nhiéu quyén sach?

EIEQEDEY EYE EL
LHED N EYED ED B
LAEESD

A5 B.6 C.3 D.2

Solution:
18 +-3=6
1+2=3
Key: C

Q23. [2.V.1]

Choose 3 digits, can have repetition, from 0, 1, 3, 6 and 9 to form 3-digit even
numbers. How many different numbers can be formed?

Chon 3 chir s6 (co thé dwoc chon lap lai) tw 0, 1, 3, 6 va 9 de ldp thanh cac s6 chan
c6 3 chir s6. Hoi cé thé ldp dwoc bao nhiéu $6 khdc nhau nhu vay?

A. 40 B. 20 C.24 D. 30

Solution:

abc

c:2(0;6)
a:4(1;3;6;9)
b:5(0;1;3;6;9)
2x4x5=40
Key: A



Q24. [2.V.6]

For every 4 pens, the store gives each customer 2 erasers for free. If Fred buys 15
pens, how many erasers can he get?

Cir mua 4 chiéc bt thi khdch hang dwoc ting 2 cuc tay mién phi. Néu Fred mua 15
chiéc but thi anh cfy nhan dwoc bao nhiéu cuc lcfy?

A7 B.3 C.8 D.6

Solution:

Q25. [2.V.6]
The 3 % 3 square below contains 9 consecutive numbers from 1 to 9 in each cell and
the sum of numbers in each column or row is equal. Find the number that should be
filled in cell A.
Hinh vuéng 3 * 3 dudi ddy gom 9 s6 lién tiép tir 1 dén 9 dwoc dién vao méi 6. Tong

cdc s0 0 moi hang va moi cot la bang nhau. Hay tim so thich hop dé dién vao 6 A.

A 1 B
3 C 7
D 9 E
A.2 B.4 C.6 D.8
Solution:
1+2+3+4+5+6+7+8+9=45
45 +3=15
3+C+7=15
C=5

B, D, Cis different from 8 ( sum of numbers in each column or row is 15)
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